(@ Ny, /dndeC

Ratio to ATLAS

900 GeV pp Underlying Event
I L e B I I B B g
B <N_> Vs dead (Inl < 2.5, P, > 0.5 GeV, P> 2 GeV) i %
L2 u ATLAS __§
- --3-- Herwig 7.2.1 default M
— —A— Pythia 6.428 370 =
1— —a— Pythia 8.308 default e
- ¢ Sherpa 2.2.9 default o
- 12
0.8 — o

mcplots.cern.ch [arXiv:1306.3436]

a | | | | | | | | | ' | | | | | | |
:l T T T T | T T T T | T T T T | :
2 B —2
B \ A AA A ALA. A A AAAA A A\ A_A A B
1 N "ni“(g"h_ﬂﬂ;ﬂm'AVEVA"VA'AVAVA‘ VKAV ?ﬁigaﬁ“‘_v_ﬁ | 1
B SIS N O S N e e St _
B “v*‘ et
0.5 — .y e ’_QQ"'Q" —0.5
| ‘l‘v**@v0¢40444woﬂ04' |
0 1 2 3

left|gright| (w.r.t. leading track) [rad]



	Contents
	Page 1


